JFA U-129vyh—1)—42018% 8 <IHEEME >3
F£500 #HEEBRFEYFYYI—KE
HEF—L HETHNSC

[ul0-1-27avw4]

NO| F— L4 | #BETHN | #IEGSFC FAFC AZK-R |\ TFa—sc-s|vsemrenutz|  XEFC | B | & | o |ma|ea| xa| el mE
EETAN x| é 0|3 (3 1o : 2| o : 7|0 : 2|4 ? ol 2137
2 |}&EGSFC f . Foke 1 f N f ol ; f s ? s (3 N EAAER U R R
3| AAAFC : ol f 1 Yo e o : | o : ol ? ol (3 NEN R
A A
4 AZK-R ? ale = als ? 0 * 0 : e (3 alq = ¢ 3|12 |11]12] 2 |10] 2
5 | /N F4—SC-S (_) ol é ; 10(_) ol (3 . * 10(3 | = (_) 0 5|10 1]16]|36)] 2 |34] 1
6 Ll’i?ﬁtc ? ol : sl o : o : 6l i : 10 * ’ (3 0 214]|10|6]|5]20]|-15| 6
7| XJEFC :4 2:7 0: "y f 1 0:7 0: 1 Fo o|s5|1[1]3]21]-18] 7
XEBRTTOTETESDHRALTTAL,
[U10-1-2T'mv %] 9 A 17 B (A) Jb LB/ 15-5-15
No| FwoAtD ¥ 2 Uy — 4 FTE EHIES IS
1 10:40 X[EFC o — 1 BAFC AYAZR| AZK | TN
2 11:20 |WSAEHFFCAUAX| 0 — 6 |[HSHFHFvH—X-R| XE | $&4n | @A
3| 1200 |#EITHNSC-W| O — O | NPO#EGSFC |/N\Fa—| BES | ~AUFR
4 12:40 INT4—SC-S 10 — O BAAFC AZK XE | GSFC
5 1320 |WLWAREFHFCAUAX] 1 — 3 NPO##;EGSFC ‘A | NTa—| AZK
6 14:00 X[EFC — 4 | #ETHNSC-W | GSFC | AUAR | NTFq—
7 1440 [HEHFFYHA—X-Rl 0 — 1 INT4—SC-S +vH#Nn | GSFC | XE
[U10-1-2T'Bv %] 9 A 24 B (A) e (1] AR 2 53 15-5-15
No| FviAT ¥ E U — 7 FTE | BIFE | BT
1 10:40 BETANSC-W| 0 — 2 |LWAEHFCAUYAR|/NF+—| GSFC | BEA
2| 11:20 NPO#&/EGSFC | 1 — 1 INTA4—SC-S | ANUFR| AZK | THA
3 12:00 BAFC 0 — 3 |hEH»BXYH—X-R| GSFC | NTy—| xE
4| 12:40 X[EFC o — 7 INT4—SC-S AZK mE | AUFR
5] 1320 |HEETANSC-W| 0 — 2 |HEHABFvH—X-R| XE | AUFZ | N\Fa—
6| 14:00 NPO#&EEGSFC | 1 — 1 FEAFC THN | XE | AZK
7 1440 |WAREHFCAYAZX| 1 — 0 X[EFC #wS | $Hh | GSFC
[uto-1-27avs] 10 A 8 A (A) I B/ 15-5-15
No| FviAT ¥ & ) — J FE | BIFE | BIFE
1| 10:40 /NT4—SC-S 7 — 0 |#ETHNSC-W| AZK | GSFC | @S
2 11:20 |HEHHFvH—X-Rl 0 — 0 NPO##E;EGSFC | $&h | NTy—| AUFR
3| 12:00 FHAFC 1 — 3 |#ETHNSC-W |[NFy—| XE | AZK
4 12:40 INTA4—SC-S [ 10 — 1 |LWAREFHFCAYLFX| GSFC | $H#h | XE
5 13:20 HEHFFYH—X-R[ 1 — 1 M JEFC B | ANIFR| NTa—
6 14:00 BAFC 1 — 0 [LWAEHFCAUFR| XE AZK | GSFC
7| 1440 NPOEEGSFC | 7 — 2 XJEFC AFR| BwAE | THN




